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[z-*, r(o
Sl (a) Giw|| fimtim,/(r)=l r++ 23x<6

[ 3a x>6

(r) Sketchtre greh of /(x).
(4 ns*s)

(il) Detemine fte dmain and rangp of f (xJ 
( 2 nrls)

(b) Basd m the figure StO), state trc cryatim offlx) d dst€mire &c dmain sd
range ot f(x).

Figure SIO)

(4ms*s)

(c) Given f(i=+, g@)=d +bx+z dh(x) = 2x-I .If {-'=l6f-58r+53

(r) Calculate the vahp of a d D.

( 5 narts)
(ii) Determine the cmposite firnction of fg(-I).

:i ( 3 narks)

(iir) Coqrute f "h.
(2 na*s)
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S2 (a) Findthlimitsoftbfollowing firctims:

(i) fsry
(ir) lim {r-::*ux+2 2X' -3X-z

(ru) limg
r-+4 

,,1 x, +9 -5

(rO lim 'z?r+o ,l xt -9

(2ndrs)

( 4 marks)

(4 mnks)

( a marks)

I t .r<-l
I r+l

O) Giv€ofimttun, fir)=lt -g, -1<133,
l6 x>3
t

Dctsnire vfuf(x) iscodinuqs atx=3 dx:f
( 6mrl$)

53 (a) r* |fortbe fonowing firnctions:&

$) Y=Y-?2x+3
(4nnks)

(ii) Y=ln(r+lnr)

(b) Given that, --L, W 1 A #nt€nms ofx.-4-x'&E
( 6 nadcs)
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(c) A cylidical contairer bas me €nd_opeod and &e otk end chsod. 11 hns a

: circular bos€ of radius r cn. Given that the volume of container is

,, y =15grc, -{.cmt .
2

(6 marks)

S. (a) Fid:
. c'5-z(i) l(- - 1eJ' t'

(3 @ts)
5

fiil lznx'1when /(r)=5\"/ J -,t t'
2

( 2 mad$)

O) Solve I$&rning integration by part

(8 marks)

(c) Question 54 (c) is based on figure 54 (c).

Figure 90 (c)

Find thc uea betrveen f(x) = -f + 4x and g(r) = i -6x+5 over tbe int€rrral

0 3.rS 1.

(7 marks)
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j SS (a) E:rymdfrcfollowingsoqrrooes:

1(il Yt2 -Zk+7tt L-
t=l

(3 ma*s)

(3 na*s)

(b) Th first term of a finite geom€fiic series is 6 and tr€ lasf tfrm is 4374. The nrm of

all t€rms is 6558. Find fre number of terms r .

( tma*s)

(c) The value of a certaint5pe of vehicle wbn it is new is RM45(D and it deprociates

by lW/o erch year. Find tre value ofthis vehicle when it is five years old-

( 6narks)

-Ehln or QuEsTroN$

(ir) Zs*
t=l
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